
���������

�	
���
�����������������

���������� ����

��������������������������������������������������������������������������������������������������������������������������������������
��������	
�����
������������������������������ ��!�"#$��%&#�������'�����$���(��	��%)��*�$%+�,�-�%$�.�&���/���
������������������������������ �

0����-$����
������������������������������ 
����1���$�2��3�������
������������������������������ �

�

�
!"#�$���%�&%'���(�)�*+�,�-�(,.�,(,(/���(�0123�!45�(&"������
����

�
�

���������	
��������
��������������
�����������������

����������������� !�"��
�����

�

!26�7��8�(9��!
*:��7�	��;&4<���%=�,(�,>>>?@<A� ���B������.7=C-D������-/6�-�;B���(�E�,.F:���*
*�6�	G/����/F60,� 0,/�,��

)&�-�;1<,�H���6��
I

I
����.��J1�,�!#�*��KL���(�H���6����������������������IMI
���!#�*���#&25�;1<,�H���6��������������������
NIOI
����

�
!�1P�
!�.*�����������������������������%�&$4��5��6(-
��,$7�
�5���8���(�9:;��������2)$�<���=>
$(%?$�%$@��/�(�A
BC�!��	���(���%$�

D�$4�*�
�2������<��$4��(��6���65�������E�	F$�����������<��$4�����!��	���(���%$��,
GH(��
�-������GI�J$�>�������GC�������K���

�D7L
������$����-$����M
�����D�	
��0N',
���%���	+��-�����

�����G�Q-��-�(,&�������4���GI�J$�>�����O���5�-����$�&�
-������������/�5�P����������=*��Q�L8���=*�����$��(�*��
)O8���B$���5(-�


�=�����%��>�(%8�������R��%$�(�!��	���(���%$��������=��%$�����#���5(-
��=5-��-8�=!��	������#��%��-S����:	
����

@��+��������$�D����T-Q�U)$����	���%6���/�������������������=5���/�5��VW�=�W-�?$��4���I�(�(����=�������*���
)O8�>
$X�8�,
GH(�

�������?$�,�S-��D�$4�=���$����/�-$�*��
)O8���(@-��,
GH(������������(����-B�C�D�	�
��2
���8����-BC�Y��Z�(��4��[�������(%

��������[
�&$�-S��%$��5(-
������
=�����������������������Y���Z�(����8���%�$��,�#��4��=��%�$��,�#����8��&B�C�4���(%?$�,�S-��D�$4��I(�

%&	�����L
�&$���,
GH(�[������>
$(%?$�R��%$�!�
�����B��(��%�(-��M
��8�U	#

�=�Q�L8���*����$��=���-BC���

R�:�����L&\�-	�
�����������������������VG������8]�����4�&6��I(�=,������\(��L
�&$�,
GH(�<��$4��>������!��	���(���%$��5�6

����������������������������&
��<
���M���K����J&$�D�������	#6�/�����\�8����5��%�$��/��������\(�D@���G���4�������^�W��,�)\�,�
���4]

������[
�&$�5�����$��-������%&�@����*]��������*����$��,���8������-26��8�=�Q�L8���X��������!���	���(�M���,)\�[
�&$�*����$��>
$

^�-
��%�(-��!��	���(�5��%)���(�M
��8�,)\�_78�=>
$(%?$�-8���-S���%K��>
$(%?$�5�6���

�S,-�E.
4G�E�C��*�Q�L8���=!��	���=��%$��=�(%?$�

�

!�.*��
������D��$����2O$�M$���!��	���(���%$���-
O�4��������D��$4�4����/�,
�����6

��-Q-���8�[

@����������`�:�������
�
��<����(%?$�D�$���(�M��$�D%��a

�$��%&/��������D��$��-
O�4�>����65��������-B�C�Y��Z�(��=��%$��,#��=�

�������������������L�����/�-$�-���
�(�D�	�
��2
��=����	6����=���-BC�D�	
��2
�

��$�M$����������'���������-/�b&\���������!����4�����:	
��M
I������5�-����-�S

�>
;(-O$��
�F8=��!��	���D�$4���(%?$������4c����������)\�b&\����,��
�

�������(�'����8�d������������(%�;�����-�
$�(�e-�$�(�M�
��8�,���
��'�%�C����

�,W���<6�/��0����������U	�#

�����$������/��
��-����*�GI�J$������5��6

Y�(-
���Y�]�L$@��6���������5-)���fQ��&$��������	W-S�*���C��=,�
���

�������&BC������V;�D�$4�g
�	$P��������������D%
�
��D��$4�g�
�	$�=��
K��

����]��L$@����	#���4���&BC��Y�N�����������!���	���D��$4�g�
�	$�(����
K���h�

����
K��$��%�����1��������*�GI�J$��$����/�����%&/�-������5���4���
�-����2\

��������!��	���(���%$�*�
�2�����-O:I�(�5�6i1�j��-O:I��(i�h�j���	W-S���O���

�'��=k��(�����[Q���O$�����
���8]��$��������,�
���%
�
��l�m�����$�n������

Archive of SID

www.SID.ir



������������0,��7�C�-��2����4"TUVWW��WWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWW��

��>�����$��������4�(�!���	���(���%$����B������D��$����������M�;�-$�����o���-$�5��6

��������,
���%��������5�(%;��8��)�@�E�	F$�d���������%�$�������m��
�-�

���,
26��5������$�n�-
p�������(��$�n��[Q����>
$(%?$�!��	��(

�q�(���,
��5��������������������D@��������8�=�(�%$�_4�$@�(�5�����$��-��>2H

�����<��$4��5���S-��f�-Q�4��M2���&BC���$��6�����-K��GI�J$����$�D��8���

��������������������
�-��<���$4��3�����!��	���(���%$��,
GH(��GI�J$�>�����

,
���%����

�

��G�Q-��-�(,&��
U6�����������-�64�����<���$4��5�-�\�����D�$4�.� �����$���-$����0N'����

�������������8���
�B8�U
�8����������=M
�����D�	
�����D7L
���K������GC=���>����

�����
�B8�_(������GI�J$���GJ�$���5(��-��N���/-$������-�	�#$��M$�

���=���-BC�D�	
��2
��3�0���-BC�Y��Z�(��(��1���O�����%$��,#��

%�������������$�&�
-��f�-Q�4���6������,�:6������/��%����O&�
��L	���5�

��%2��<F�����������=!���	�������#���5(-
��=*�Q�L8���=*����$��(�*��
)O8�

�������������������R��%�$�(�!��	���(���%$��������=��%$�����#���5(-
��=5-��-8�

���������%���;�-Q(�����������8���
�B8�U
�8�g�
�8�%6�����%6��$�>
&r26�

����=��J&$�����$����^2\���%��-S�5�(@���	W���(����6������M�
�B8�(����O8����$�

,W-S���-K�5��$@���

�

�@��+��
����
�-����N�����������%���sF�$�=��J&$����-�	#$����$���(�5��%$���/-$�

�/������>
$X�8�-n��4�����������*���
)O8=�k��������$�����/-$����*���
)O8�

�������+���������.�
�-����M2GI���	
��<��$4��t�+�������6������-�/���
)8

���(�%����0�����������%�������%����R��%�8����4��
�����$�*��
)O8�MK�%;��/-$���

����-/��/�,
GH(��(������������*��
)O8�,$7
k��/-$�������[
�&$�

��('��������������(�%����L����H����	W����/����*��
)O8��-/��/�,
GH(�4���/-$�

������UI�
�*��
)O8�>	������\(�����/-$�3�=������%�G8�-�n��4�����*���
)O8�=�

�%&	����5-	2/�����5��/�5�VWk��������[�
�&$�(��W��/��/-$����������3���(�

��L��
�&$���(��W���/���5���VW����/-$,�������'�5���VW�5��������/-$�

L
�&$��%����=����I(��VW5����D�����\�$����������J&$�5��64�
��5������\

���L���8�
�2������-n��4�&2��=��kh�������%&	��������+�,
GH(��/�-$�%C���

��(kh�����g
�	$�%;����-����%C������%������>2����������k�����*�����$����/-$�

������������������&6��26��������$�����(��$�,)\����$����/�-$�-��
����o�L8��

�����(%?$�^�-
�!��	���������\�$�������(�0������������\(�*�����$��>������/-$�

,��%�����������!��	������#���5(-
�P����/-$�����V;����,���V���/�%&	���

�������������������(��2�
��5(-�
��g��W���/-$�3������!��	���5�6(-
�k�-$�����/

�����������:
u(�(��2
��5(-
���������������5(-�
��-����(7���-�������/-$�(����

���:
u(�(��2
�=���������%&	��������
	+�������
��5�����-K�5(-
������5��6(-
�

����������(�%&	�����2
��,��V��g�W��/-$�3�����5��%$�0�����2�
���/-$�

�������(��:
u(�(1�������5(-�
��=��:
u(�(��2�
��5(-�
��-����(7����/-$�

����%&	������
	+������
��5�����-K������(%?$�!��	����L#��D�$4����&B�C�4���

������,#���8�g
�	$���Q����=[����������5��%$��5�6�k����Y��Z�(���8�=��
K��

�����-BC1k���
K���(���������3���4��-	��
�����-BC�D�	
��2
���8����,���


��$�!�Q���%
��/�����������������/-$�3��������)&8�>
$(%�?$�����S�%\��%��(-�

i����-BC�D�	
��2
��j��$�M
��8��%��������d�����������$���*�$�%�K����/-$�

�������$�,Lv�w7$�/��(%?$�5�-���	W-S���O�����%��=����������I(�'�����������/-$�

�2��,Lv�M$�/���Q�%����

�

R�:�
8X���������<
��.�
�-���6(����(��W-?$��4��I�(�������*��
)O8�>
$���&
�

$X,���$��������������
�
����%K��3�����
W�-x\�g��-��(�*�G\�-$�UO;�(��6

������������$�-�6����y���J$��B�����%�����/�,
�X���8��	���$X����-�S�>
$��'���

�8�,
GH(X�����7K��>���>
$�����GI�J$�>����������-����*�GI�J$�����#���$���

�����[
�&$��'��=k��=d�����������>���������$����/�-$�-��
�����Q�L8���*����$��

<��$4�����,��%��y��J$�,
GH(����������8��
�2��y���O8����z��W��D��(��

������-O:I�(�*�
�2����2\�4��.%�$i1�j�������8�-���F$�(��Q�L8���M��
(��/

���w7$�/�,
GH(���=,��%��y��J$����n	���$���(�����/������(����GW�g��-�����

��<��$4����O��������������$�5�6����5-�	)��,
GH(�����-�S�U6�-�W�k��=d���

.�
�-��������	W-�
�������(�y��O8��>W�(��5�(@�����5��6�����AJ�
�������\�$

�
��=�������Q��L8���*�����$��D���2��U6�-W�����������*�$�%�K��4��5��K�(�[�
�&$

���
�
��$��%�����������9:;�,
26������\�8�����,$7
���5(-
�����L
	���(

��������������%�$@��/�*��Q�L8������2\�4��UO�#&$�o��L8���3���5��-K-��=���#���

�,
��5�(-H���������??F8�*����$��4�����:	
���J����>�������-8�(����	;��

����O����(��$���?
F�8�5�6�(�������(������4�����$���i��>
#�%$���8j��U�6��

�$������-
S���-K�-n�%$�%���8��P��=N����������,��S-��(��&BC����D%

��D�$4�

�(%?$������[������������������(�*��GI�J$������\�8����U)$�s+���3��D��&�

�������6���/�-��
�(�D�-��������\�$�f���
�����26�������^�K�(��\�8����$�%����

��-S���������������%$��,#������8�
�2���&BC�4���(%?$�!��	����GI�J$�>�����

i�k���
K��j�(��4������������-BC�Y��Z�(�������%$��,#��i1k���
K��j���/������

Archive of SID

www.SID.ir



255��������� WWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWW!"#�$����%�&%'���(�)�*+�,�-�(,.�,����(,(/���(�0123�!45�(&"�
��� �

�����������	
���
�����������������

������$�*�GI�J$����,L#�������,���%���L�
�&$�,
GH(�-�������k����D��$4

�,
G��H(�4�����-B��C�D�	��
��2
�����8�Y����Z�(��4���(%��?$�D%
��
�

�����������+-���L
�&$��������������<���$4�����J&$�D�������	#6�/�%&m�-6�

�8���X�������!��	���D�$4�D��	W��-
+�8X��-
v�L�=����������%�$��,�#����������I(�

����������O$�(�z��&	$����$����/�-$��%G8�(��8�
�2����J&$��������fQ��&$������)

����q�(��\�8��/�,
�����H�$��8�
�2���$���+�������5��%L�Q��c��������

������������R��%$�,
26������\�8i��5-	#��(�����-
�j����=D����2
��5�-��

�������8���
�B8�*��GI�J$�>
�&r26�(�����$�����/�-$�(�3�����5%�G��=�

��M
��8��������D�-/�M
2�8�=*��7Q��,Lv�,)\�[
�&$�U#
���$��f�
K�

D@�(�����A
BC�5��%)���������������2
��D�$���(�!��	���-

���5�(-�H�,�
��

��h�������,��Lv�(�_-�{����U
��8�5����������$������/�-$����GI�J$�>����

�%�����>
$(%?$=������S�%\��%�(-���I(����(%?$�5�-�����2��M
��8��%���

���������<�8�������4(-�$��>
$(%?$�*��7Q��,Lv��&
$4���������E��	F$�5��6

_(������$����:	
���:�	F$�5�6������
��/�������(��D��26�D@�>�-�8�_

����-W����*��7Q��,Lv���������$��%���;�-Q�<
��4��t�?F$�5�6��%�����

�_(��>
�����$���\�$�5�6�������,�
GK�$�>
�&m�5�-��D��8������6��=����3���4�

���>
;(-���O$��������S%
���
��U	���#

�D�����&��������������
�_(��

������	
�� 
���	���� ���
��� �� �
���	��#��4�����/���5���6

���������������$��-�)��D����2
��*���7Q��!���	���(�,Lv�,)\�t�?F$����=�-��

��:	��
�����2������������*����/������-$@�<��8��������q���(�5���6��5��

i�������	��������	������j�������o���-$�*��7Q���/��������\(

������������$�,Lv�D@�������$���M;�-$��
�/��8��v��;��&BC�4���(%?$������-�S

������*��/�>����/�,
���%��%
/X8�(��������������/���-�S��%�\��(%?$�4���	K(��6

�������
W%8�%#\�,
����-K�(���-/�*�W��(%?$�����-S�>�|����
)8��$��-��w�-
+�

��������������&B�C�����������*���7Q��,Lv�����������
�(-	�I��M�$�;�*���C

��?F�i���-S�R7������$�j�,
���	W-S���-K�-n��%$��'���

�����������������D�����[�
�&$�>2�H�=<��$4��>������>
$(%?$�!��	���(���%$�

��L&\�-	�
�����������������������/�,������L�
�&$���,
GH(�����$�4���VG�����=�6

��#6�/�����\�8�������������������&
��<
���M���K�=<���$4����J&$�D�������	��

������������=�Q��L8���*�����$��,���8������-26��%��-/}�*]�����^W��>��-��&�

�����������̂ �-�
�!���	���(�M����,�)\�[
�&$�*����$��>
$�8������=>
$(%�?$�-�8

��������%�(-��!��	���(�5��%)���(�M
��8�,)\�_78�������4��>
$(%�?$�5��6


�&$�5�����$��-�����,
���4]��/�,
��5����$�-
S���-K�-n�%$�[���

�
��,(�.5�-�/7=6�

�������������5��
�#��5����(�32/�4���8��
�B8�T-Q�>�����O���(��;�-Q�,)\

��������������%���6(q��=��$(-8�(��4�����5��%)��*��
�B8��/-$����D����26�4�

����������������(�*��
�2��(���%�$��������(���~�
���&
$4�5(-
��5��%)��=�$4��[Q

������
����������������������>����b&\��������� �:	
�������/�,
���%�����

�$�M2�����-��8�(�-�%�8�D��@��$�28�4����

(�>�%��%�@���

�

X:�T��
���4�&)$�D��-
$���T(-O$�(��(%?$�!��	���i�&
$4������6�j�=%)�$���/-$�=D�-)8

D�L�S�-���(�l�m��!�
��0Pc�*�B:C=0d(0P��
'����M/�8�5%;����;=����-�?��D�
B	W�����������m�4�>
�#;�(����������
�-��(�5�(@�^�2\
O8�����-O:I�(�*�
�2�������~
�5��%)��*�
�-�h����8���
�B8�T-Q�����[�Q��%���6(q�

�$4�=�
������������������������������ ==D�-)8���!�
�0Nh��
0���%2;��D��-$�����������!���	���(���%�$��,�-�%$�����������=�����6�4��U����D�-�B��(�b�&\�

�&
$4�(��������*]��$��C7+�y�	/��>
I(���-�&/5-
�-
�-)8�=�$�n��[Q��=D�
���$-)$�0N��*�B:C�=0h(0���

	
��������� �����	�
���!��"��##��$!�������%�����
����
����&��
����

&���������������	������
��
!�����
�������������
!'��"���%�����#����

����(
�)**)���&+�*�,-*./���
k���������$�;���5�%C�����������*��
�2�������~
�5��%)��*�
�-O8��
�-��(�5�(@�^2\�

-O:I�(1����8��
�B8�T-Q�������$4��[Q��%��6(q�=�����������
�������������������������
������� ==D�-)8���!�
�0N���
d���������%2B$%

���?��(������$�;���5�%C�=����!�O&p�������!���	���(���%$��*�
�-O8�

������-O:I�(�*�
�2�������~
�5��%)�1������������������2���=UO&���!��
�=�$��n��[�Q����O$�'��
�

�

�

�D�	#��8�0N'�*�B:C�=cN�c����
P���LB$����G&#;=����D�$q��D�
��-B$�=��4-W��6�&����������[�Q����>
�#�%$���8�y��O8

�$�n������*]��$��C7+�>
$(�����������=D�-�)8�=�$��n��[�Q�5-�
�-
��-��&/���0N'�=
��B:C'ch��

�
� ��

!�0� 12� �
������ � 2� 3���
� 4�� $������ ��� ����� �����	
��

��
��
������1�����.�5�������6���+�)**)�&�78��

c����&��+����%2B$�Y��������������&
�#BI������+�=4��&)$�D���-
$�=��G&
�#;�����-)$�=
������5%)$��$-���K��C�(������L
Q�=%2B$%

��32/���D�S%�&$4��5�-����
I(��5�6��

!�
�=%&2��%���=D�-)8�0Nh�*�B:C�=�Pc��Pk��
�h�����&
������$-6�[#��(�����H-I�%L��5�(]���������%��(-�����������,
G�H(���
�-��

���G\�-$�����-
�D���2
�������%&&/�D�	
��2
�����D�-�)8�[F	&$�5�6�����8���
�B8�T-�Q�
���
����������������������=,��%)���%����������� =�=D�-)8��0N����

�����LB$�������!�O&p�=��G&#;�(���%2B$%

���?������������(������;������%�$��,�#��
�G
LQ�5��7���*����	��=D�-)8�=%&2��%���!�
���0N0��B:C�='N���

�

� 3�""�.� 1���� 1�� ��

	�� %��	�� ������	� ��%����
���� ���
����

 ���	�9	��%���,�000��	5�$��:1;�� ���������
,�3����9���7<<=���

Archive of SID

www.SID.ir


